
  
 
 
 
 
 
 
 

Это моя вера 
=

˝=þ₣Þ³Ý¹Č=þ²þ=¹Þ˛= ×˛ž³ý˛=Ł=ˇ³ŠÞ¦₣ÞþÐ=¹³š²š=¦=³¹ÝŞĞ˛Ý=łþÝþ¹=
¹ŁþšÐ= ˇš¹¹ýš×²ÞþÐ= Š³Ğ¦I= ðþ²þ×˛Č= Š˛Ý˛= ýÞš= Ć²þ²= ¹¦ýŁþÝ= Łš×ŞK= ÏÞ=
¹ŁČžŞŁ˛š²= ýšÞČ= ¹þ= ýÞþł¦ý¦= ₣šÝþŁš₣š¹ð¦ý¦= Š³Ğ˛ý¦I= Š³Ğ˛ý¦=
−×šŠðþŁI= ¹þŁ×šýšÞÞ¦ðþŁ= ¦= −þ²þýðþŁK= ÏÞ= −þýþł˛š²= −þÞČ²ş= ¹ýŞ¹Ý=
Ž¦žÞ¦I= ×˛žÝ¦₣¦²ş= Šþˇ×þ=¦=žÝþK=ÏÞ=³₣¦²=žÞ˛²şI= Ýćˇ¦²şI=³Ł˛Ž˛²ş=
ÝćŠšÐ=¦=ý¦×I=Ł¹÷=Ž¦ŁþšI=ÞšŽ¦Łþš=¦=Łþþˇ×˛Ž˛šýþšI=Šþ¹²¦ł˛²ş=ł˛×ýþÞ¦¦=
¦=ˇÝ˛łþ−þÝ³₣¦ČI=−×šþŠþÝšŁ˛²ş=²×³ŠÞþ¹²¦I=²Łþ×¦²ş=₣³Šš¹˛I=Þ˛ŠšČ²ş¹Č=
Þ˛=Ý³₣Ğšš=¦=ˇþ×þ²ş¹Č=ž˛=²þI=Łþ=₣²þ=Č=Łš×ćK=

˝=¦¹−þŁšŠ³ć=×šÝ¦ł¦þžÞ³ć=Łš×³=Ł=Þ˛¦ŁŞ¹Ğ³ć=¾šÞÞþ¹²ş=₣šÝþŁšð˛K=
ıšÝþŁšð= −×šŁŞĞš= Ł¹šłþ>= Ë˛ŽŠŞÐ= ₣šÝþŁšð= þ²= ×þŽŠšÞ¦Č= þˇÝ˛Š˛š²=
þł×þýÞþÐ= ¹¦ÝþÐI= ¦¹²þ₣Þ¦ð=ðþ²þ×þÐ= ¥= Ł= ₣šÝþŁš₣š¹ðþÐ=Š³ĞšK=‚³Ğ˛= ¥=
Ć²þ=Þ˛¦ŁŞ¹Ğ˛Č=¾šÞÞþ¹²ş=₣šÝþŁšð˛I=¦=š÷=¹¦ÝþÐ=ČŁÝČš²¹Č=Łš×˛K=ÍŞ¹Ý¦=¦=
¦Šš¦I=−Ý˛ÞŞ=¦=ž˛ýŞ¹ÝŞI=ýš₣²Ş=¦=žÞ˛Þ¦ČI=ÝćˇþŁş=¦=¹²×˛¹²şI=²š×−šÞ¦š=
¦=¹ý¦×šÞ¦šI=½˛Þ²˛ž¦ČI=Þ˛ŠšŽŠ˛I=−þÞ¦ý˛Þ¦š=¦=¹þ₣³Ł¹²Ł¦šI=Ł¹÷=Ý³₣Ğšš=
Ł= ýþšý= ¹þžÞ˛Þ¦¦= ¥= Ć²þ= Š³Ğ˛K= Ë˛ð= ýþŽÞþ= ¹þýÞšŁ˛²ş¹Č= Ł=
¹³ğš¹²ŁþŁ˛Þ¦¦=Š³Ğ¦\=ÒÝŞˇð˛=¥=¹˛ýþš=³ˇšŠ¦²šÝşÞþš=Šþð˛ž˛²šÝş¹²Łþ=
²þłþI= ₣²þ= Š³Ğ˛= ¹³ğš¹²Ł³š²= ¦= Š˛÷²= ýÞš= Łš×³>= ıšÝþŁšð= ýþŽš²=
ŠšÝ¦²ş¹Č= Łš×þÐ= ¦= ¦žÝ³₣˛²ş= Łš×³I= ₣²þˇŞ= ³²Łš×Š¦²ş= Þ˛¦ŁŞ¹Ğ³ć=
¾šÞÞþ¹²ş= ₣šÝþŁšð˛K=‡š×˛= ŠšÝ˛š²= ₣šÝþŁšð˛=²Łþ×¾þýK=‡š×˛= ŠšÝ˛š²=ýšÞČ=
Ý³₣ĞšK=‡š×˛=ýšÞČš²=ý¦×K=ÒÝŞˇÞ¦¹ş>=

‡š×š=Ł=Þ˛¦ŁŞ¹Ğ³ć=¾šÞÞþ¹²ş=₣šÝþŁšð˛=−×þ²¦Łþ¹²þ¦²=³Þ¦ŽšÞ¦š=¦=
Þ˛¹¦Ý¦šK= ÒÞ¦ŽšÞ¦š= ¥= žÝþI= ³²Łš×ŽŠšÞ¦š= Þ˛¦ŁŞ¹ĞšÐ= ¾šÞÞþ¹²¦==
₣šÝþŁšð˛= ¥= Šþˇ×þK= Ìþýþł˛Č= ÝćŠČý= −þŁš×¦²ş= Ł= ¹šˇČI= Č= ²Łþ×ć= Šþˇ×þK=
/þ²I=ð²þ=³Þ¦Ž˛š²=¹šˇČ=¦=ÝćŠšÐI=²Łþ×¦²=žÝþK=Ôþ=žÝþý=Þšþˇ¼þŠ¦ýþ=
ˇþ×þ²ş¹ČK=ÂÝþ=¦ÞþłŠ˛=−×¦þˇ×š²˛š²=þˇý˛Þ₣¦ŁŞš=½þ×ýŞK=ÂÝþ=ýþŽš²=
þˇİšŠ¦Þ¦²ş= ŠŁ³¼= ¦Ý¦= ˇþÝşĞš= ÝćŠšÐI= ×˛¹²Łþ×¦²ş= ¦¼= Ý¦₣Þþ¹²şI=
þ²×˛Ł¦²ş=¦¼=Š³Ğ¦=Ž˛ŽŠþÐ=³Þ¦ŽšÞ¦ČK=ÂÝþ=ˇŞŁ˛š²=¹¦ÝşÞŞýI=Þþ=Łš×˛=
Ł=Þ˛¦ŁŞ¹Ğ³ć=¾šÞÞþ¹²ş=₣šÝþŁšð˛=Ł¹šłŠ˛=¹¦ÝşÞšš=žÝ˛K=ÔŁþˇþŠÞ˛Č=Š³Ğ˛I=
ÝćˇþŁş= ð= ÝćŠČýI= žÞ˛Þ¦š= ¦= ý³Š×þ¹²ş= Łš×³ćğšłþ= Ł= Þ˛¦ŁŞ¹Ğ³ć=
¾šÞÞþ¹²ş= ₣šÝþŁšð˛= ²þ×Žš¹²Ł³š²= Ł= ¹²þÝðÞþŁšÞ¦Č¼= ¹þ= žÝþýI= ðþ²þ×þš=
þł×˛Þ¦₣šÞþ= ¹ŁþšÐ= ˇš¹¹ýŞ¹ÝšÞÞþÐ= ˛ł×š¹¹¦ŁÞþ¹²şćI= ¹˛ýþŁÝćˇÝ÷ÞÞþ¹²şćI=
Þš²š×−šÞ¦šýI= ÞšŁšŽš¹²ŁþýI= ÞšŁÞ¦ý˛²šÝşÞþ¹²şćI= Þš−þ¹ÝšŠþŁ˛²šÝşÞþ¹J
²şćI=¹ŁþšŁþÝ¦šýI=ˇš¹−š×¹−šð²¦ŁÞþ¹²şćI=Þ¦žþ¹²şćI=ˇšžŁš×¦šýK=============
=



=
ÂÝþ=ˇ³Šš²=−þˇšŽŠšÞþI=Þ˛¦ŁŞ¹Ğ˛Č=¾šÞÞþ¹²ş=₣šÝþŁšð˛=³²Łš×Š¦²¹ČK=

˝=Łš×ćI=₣²þ=Þ˛= ¹˛ýþý=ŠšÝš=₣šÝþŁšð˛=ÞšŁþžýþŽÞþ=³Þ¦ž¦²şI= š¹Ý¦=
þÞ=Łš×¦²=Ł=Þ˛¦ŁŞ¹Ğ³ć=¾šÞÞþ¹²ş= ₣šÝþŁšð˛K=Î˛¹¦Ý¦š=−×¦₣¦ÞČš²=ˇþÝşI=
Þþ= þÞþ= ³Þ¦Ž˛š²= ²þÝşðþ= ˛ł×š¹¹þ×˛K= ÈþŽş= ¦= ðÝšŁš²˛= Łþžý³ğ˛ć²= ¦=
ýþł³²= Š˛Žš= ðþłþJ²þ= þˇý˛Þ³²şI= Þþ= þÞ¦= ³Þ¦Ž˛ć²=²þÝşðþ= ÝŽš¾˛= ¦=
ðÝšŁš²Þ¦ð˛K= Ì×šÞšˇ×šŽšÞ¦š= ¦= Ł×˛ŽŠšˇÞþ¹²ş= ¹þ= ¹²þ×þÞŞ= žÝŞ¼= ÝćŠšÐ=
³Þ¦Ž˛š²=²þÝşðþ=¦¼I=Þš=ýšÞČK=flšž³ý¦šI=ˇšžŁþÝ¦šI=ˇþÝšžÞ¦I=ý³₣šÞ¦Č=
¦=¹ýš×²ş=³Þ¦Ž˛ć²=Ý¦Ğş=²šÝþI=˛=Š³Ğ˛=−×þŠþÝŽ˛š²=Þš¹²¦=¦ž=Łš₣Þþ¹²¦=
−×þĞÝþłþ= Ł= Łš₣Þþ¹²ş= ˇ³Š³ğšłþ= ýþć= Þ˛¦ŁŞ¹Ğ³ć= ¾šÞÞþ¹²ş= ¦= Þš=
−þ²š×Čš²=ýþšÐ=Łš×ŞI=Þš=−þð¦Þš²=ý¦×K=

‡š×˛=Ł=Þ˛¦ŁŞ¹Ğ³ć=¾šÞÞþ¹²ş=₣šÝþŁšð˛=Ł¹šłŠ˛=ˇŞÝ˛=¦=Ł¹šłŠ˛=ˇ³Šš²I=
¦ˇþ=Ć²˛=Łš×˛=š¹²ş=¦=łþ²þŁ˛=−×þ¹Þ³²ş¹Č=Ł=ð˛ŽŠþÐ=₣šÝþŁš₣š¹ðþÐ=Š³ĞšK=
ËþłŠ˛= ₣šÝþŁšð= þˇ×˛ğ˛š²¹Č= ð= ¹šˇšI= ðþłŠ˛= −×þ¹¦Ğş= þ= ₣³ŠšI= Š³Ğ˛=
þ²Łš₣˛š²=¦=ýþŽš²=−þŠ˛×¦²ş=²þI=₣šłþ=Č=−×þĞ³K=/˛ð=×þŽŠ˛š²¹Č=Łš×˛=Ł=
Þ˛¦ŁŞ¹Ğ³ć=¾šÞÞþ¹²ş=₣šÝþŁšð˛K=ÏÞ˛=Þ˛žŞŁ˛Ý˛¹şI=Þ˛žŞŁ˛š²¹Č=¦=ˇ³Šš²=
Þ˛žŞŁ˛²ş¹Č= −þJ×˛žÞþý³I= ˛= ¦ÞþłŠ˛= Þš= Þ˛žŞŁ˛š²¹Č= Þ¦ð˛ðK= ÈćŠ¦=
¹þžŠ˛Ý¦=ýÞþŽš¹²Łþ= ×šÝ¦ł¦ÐI=³²Łš×ŽŠ˛Č=Łš×³=Ł=Þ˛¦ŁŞ¹Ğ³ć=¾šÞÞþ¹²ş=
₣šÝþŁšð˛K=‡š×˛=Ł=šŠ¦Þþłþ=flþł˛=¦=Łš×˛=Łþ=ýÞþł¦¼=flþłþŁI=Łš×˛=Ł=Š³¼þŁ=¦=
Łš×˛= Ł= ×˛ž³ýÞþ¹²ş= ‡¹šÝšÞÞþÐI= ¼×¦¹²¦˛Þ¹²ŁþI= ¦¹Ý˛ýI= ˇ³ŠŠ¦žý= ¦=
Š×³ł¦š=×šÝ¦ł¦¦=þ¹ŁþˇþŠ¦Ý¦=þ²=žÝ˛=ýÞþŽš¹²Łþ=Š³Ğ=¦=³²Łš×Š¦Ý¦=Łš×³=
Ł=Þ˛¦ŁŞ¹Ğ³ć=¾šÞÞþ¹²ş=₣šÝþŁšð˛K=ÌþĆ²þý³I=¦¹−þŁšŠ³Č=ýþć=×šÝ¦ł¦ćI=
Č=×˛žŠšÝČć=Łš×³=ð˛ŽŠþłþ=₣šÝþŁšð˛I=³Ł˛Ž˛ć=ð˛ŽŠ³ć=×šÝ¦ł¦ćI=ðþ²þ×˛Č=
³²Łš×ŽŠ˛š²=¾šÞÞþ¹²ş=₣šÝþŁšð˛K=„¹Ý¦=²Ş=Łš×¦Ğş=Ł=flþł˛I= ¹þžŠ˛ÞÞþłþ=
ÝćŠşý¦I= ₣²þˇŞ= Þš= ₣³Ł¹²ŁþŁ˛²ş= ¹šˇČ= ˇš¹¹¦ÝşÞŞý¦= ¦= þŠ¦Þþð¦ý¦= ¥= Č=
Łš×ć=²šˇšI=˛=žÞ˛₣¦²I=Łš×ć=Ł=flþł˛=Łýš¹²š=¹=²þˇþÐ=¦=²˛ð=³²Łš×ŽŠ˛ć=Łš×³=
Ł=Þ˛¦ŁŞ¹Ğ³ć=¾šÞÞþ¹²ş=₣šÝþŁšð˛I=²Łþ×ć=Šþˇ×þK==

Èćˇ˛Č=½þ×ý˛=Łš×ŞI=¹þžŠ˛ÞÞ˛Č=ŠÝČ=³²Łš×ŽŠšÞ¦Č=Šþˇ×˛=¥=Ć²þ=ýþČ=
Łš×˛K=‡šŠş=Č=Łš×ć=Ł=Þ˛¦ŁŞ¹Ğ³ć=¾šÞÞþ¹²ş=₣šÝþŁšð˛=¥=ð˛ŽŠþłþ=₣šÝþŁšð˛K=
˝= Łš×ć= ÝćŠČý= ¦= Łš×ć= Ł= ÝćŠšÐK= Ê= Č= Łš×ćI= ₣²þ= Łš×˛= Ł= ÝćˇþÐ= ½þ×ýš=
Þ˛¹²þÝşðþ=¹¦ÝşÞ˛I=Þ˛¹ðþÝşðþ=¹¦ÝşÞþ=ÝćŠ¦=Łš×Č²=Ł=¹šˇČK=

˝= ₣²³= Ć²þ²= ¹¦ýŁþÝ= Łš×Ş= ¦¹ð×šÞÞšI= þ²= Ł¹šłþ= ¹š×Š¾˛K= ‚˛×³ć= šłþ=
ð˛ŽŠþý³I= ₣²þˇŞ= ÝćŠ¦= ³¹ÝŞĞ˛Ý¦= ¹Łþć= Š³Ğ³I= þ¹þžÞ˛Ý¦= Þ˛¦ŁŞ¹Ğ³ć=
¾šÞÞþ¹²ş= ₣šÝþŁšð˛= ¦= ³ÝŞˇÞ³Ý¦¹şI= −þ₣³Ł¹²ŁþŁ˛Ł= Łð³¹= ¹ŁþˇþŠŞ= ¦=
ý³Š×þ¹²¦K= ÔýŞ¹Ý= Ž¦žÞ¦= ₣šÝþŁšð˛= Ł= ×˛žŁ¦²¦¦I= −þžÞ˛Þ¦¦= ¦=
²Łþ×šÞ¦¦I= Ł= ¹²×šýÝšÞ¦¦= ð= Šþˇ×³= ¦= ˇþ×şˇš= ž˛= Šþˇ×þ= ¥= ²˛ðþÐ=
Ž¦žÞšÞÞŞÐ= −³²ş= ŁšŠš²= ð= ¹₣˛¹²şćK= Î˛₣˛Ýþ= ð˛ŽŠþłþ= Ž¦žÞšÞÞþłþ=
¾¦ðÝ˛= J= −×˛žŠÞ¦ðI= Šþ¹²þÐÞŞÐ= ²þłþI= ₣²þˇŞ= −þŠ˛×¦²ş= ÝćŠČý= Ć²þ²=
¹¦ýŁþÝ=Łš×Ş=Ł=Þ˛¦ŁŞ¹Ğ³ć=¾šÞÞþ¹²ş=₣šÝþŁšð˛K=fi=Ł=ðþÞ¾š=Ž¦žÞšÞÞþłþ=
¾¦ðÝ˛=¹ÝšŠ³š²=Ł¹−þýÞ¦²şI=ð˛ð=Ž¦žÞş=³²Łš×ŽŠ˛Ý˛=Łš×³=Ł=Þ˛¦ŁŞ¹Ğ³ć=
¾šÞÞþ¹²ş= ₣šÝþŁšð˛I= ž˛−š₣˛²Ýš²ş= Ć²þ= Ł= −˛ýČ²¦= ¦= Þš= ž˛ˇŞŁ˛²ş=
Þ¦ðþłŠ˛=Þ¦=þŠÞ³=Šþˇ×³ć=Š³Ğ³=¦=Þ¦=þŠÞþ=Šþˇ×þš=ŠšÝþK=


